Linear Balanced Audio Driver With MFB Low-Pass 44kHz Filter scheme. R load=10 kOhms.

R6 c13
= I
Ro4 Switch-Ra c9 Ro2
1 1 0 1 Ra [Ra—+
R9 40 C-Ra
“, Tt R-Ra
B .C.7 50p 10k
TSH24 i q
o R4 RS . [ 1
Cn 1 Il — — - RS TSH24 and 0
V- 4
1 .
U1V 5 1 2|° W Switch-Rb c10 R10
3 v2 6 = 1 CH——R ]
! ¥ 40 C-Rb
cs L R7 F >, R-Rb
T 10
10k
R12 Compensated sop| |
~0
od i [ep 1 +REF
A
Re1 Non-compensated 50p 10k
C4 L Ri7 1K S0 R-La
270pF 11k +10 3 + Cla
3 7 Vi 6 40 c11 R20
"y Ri8 us — I ] CE-
+ V-
6 — 2] _— 82uF 20
c2 R14 R15 , v, = ~ Switch-La
in i} 1 1 . : TSH24 “Hgnd ] Q
47uUF 147k 41.2k o8
RI6 TSH24 1 [
13.3k [] C6 L 4.7pF A1 50p T
56pF — I R-Lb
|
20.0k 40 ci2 R23 Clo
1 It - b1 [T M
Switch-Lb | 82uF 20




